Y. CHU AND X. WANG KODAI MATH. J. **36** (2013), 246–257

ON THE SCALAR CURVATURE ESTIMATES FOR GRADIENT YAMABE SOLITONS*

YAWEI CHU AND XUE WANG

Abstract

Let (M^n, g) be a gradient Yamabe soliton $Rg + \text{Hess } f = \lambda g$ with $\text{Ric}_{f_1} \ge K$ (see (1.3) for f_1) and $\lambda, K \in \mathbb{R}$ are constants. In this paper, it is showed that for gradient shrinking Yamabe solitons, the scalar curvature R > 0 unless $R \equiv 0$ and (M^n, g) is the Gaussian soliton, and for gradient steady and expanding Yamabe solitons, $R > \lambda$ unless $R \equiv \lambda$ and (M^n, g) is either trivial or a Riemannian product manifold. Replacing the assumptions $\text{Ric}_{f_1} \ge K$ by $R \ge \lambda$, we also derive the corresponding scalar curvature estimates. In particular, we show that any shrinking gradient Yamabe soliton with $R \ge \lambda$ must have constant scalar curvature $R \equiv \lambda$. Moreover, the lower bounds of scalar curvature for quasi gradient Yamabe solitons are obtained.

1. Introduction

In this paper, we mainly consider the scalar curvature estimates for gradient Yamabe solitons. Recall that an *n*-dimensional complete Riemannian manifold (M^n, g) is called a Yamabe soliton if there exists a smooth vector field X and a constant $\lambda \in \mathbf{R}$ such that

$$Rg + \mathscr{L}_X g = \lambda g,$$

where R is the scalar curvature of g, and \mathscr{L}_X the Lie derivative with respect to X. For $\lambda > 0$, $\lambda = 0$, or $\lambda < 0$, (M^n, g, X) is called shrinking, steady, or expanding, respectively.

If $X = \nabla f$, the equation above can also be written as

(1.1)
$$Rg + \text{Hess } f = \lambda g,$$

where Hess f is the Hessian of f. When the potential function f is a constant, we say M^n is trivial. Obviously, Einstein manifolds are trivial gradient Yamabe solitons. Another interesting example is the Gaussian soliton (see [6]). Namely,

²⁰⁰⁰ Mathematics Subject Classification. 53C21, 53C44, 53C25.

Key words and phrases. gradient Yamabe solitons, scalar curvature, Gaussian soliton, Riemannian product, potential function, weak maximum principle.

^{*}This work is supported by grants of NSFC (No. 11071225), NSF of Anhui Provincial Education Department (No. KJ2012B134) and project-2010JPKC07.

Received March 13, 2012; revised September 28, 2012.

Euclidean space \mathbf{R}^n with the standard flat metric $g_{ij} = \delta_{ij}$ and

$$f = \frac{\lambda}{2} |x|^2.$$

Yamabe solitons play an important role in the study of the Yamabe flow

$$\frac{\partial}{\partial t}g = -Rg,$$

which was introduced by Hamilton in [10] to construct Yamabe metrics on compact Riemannian manifolds, and has been studied by many authors (see [1], [2], [3], [5], [13], [15], [18], [22] and the references therein).

For gradient Yamabe solitons, it is proved that any compact gradient Yamabe soliton has constant scalar curvature (see [7], [8], or [14]), Therefore, in this paper, we only discuss the noncompact case. In 2011, Ma and Miquel [16] showed that a complete noncompact non-expanding gradient Yamabe soliton has nonnegative scalar curvature, provided that $\lim_{x\to\infty} R(x) \ge 0$. Recently, Wu [21] studied the lower bounds of scalar curvature for a class of complete noncompact gradient Yamabe solitons and derived

THEOREM A. Assume that (M^n, g) is a complete noncompact gradient Yamabe soliton satisfying

$$\lim_{r(x)\to\infty}\frac{1}{r(x)}\int_{1}^{r(x)}\operatorname{Ric}(\gamma'(s),\gamma'(s))\ ds\geq 0,$$

where r(x) is the distance function from a fixed point $p \in M^n$ and $\gamma : [0, r(x)] \rightarrow M^n$ is a unit speed minimal geodesic joining p to x.

(i) If the gradient Yamabe soliton is steady or shrinking, then $R \ge 0$.

(ii) If the gradient Yamabe soliton is expanding, then $R \ge \lambda$.

Note that the curvature assumption of Theorem A exclude Einstein solitons with negative constant curvature, as a question proposed in [21], it is hoped that the curvature condition of Theorem A will be improved.

In this paper, from the smooth metric measure space point of view, we study the lower bound estimates on the scalar curvature of gradient Yamabe solitons, and obtain unform lower bounds of R under a natural condition. In order to state our results, we recall the following terminologies and notations.

Let $(M^n, g, e^{-f} dvol_g)$ be an *n*-dimensional smooth metric measure space, where $dvol_g$ is the Riemannian volume form on M^n . The so-called *f*-Laplacian Δ_f on $C^2(M^n)$ (see [20]) is

$$\Delta_f = e^f \, div(e^{-f}\nabla) := \Delta - \nabla f \cdot \nabla,$$

which is self-adjoint in $L^2(M^n, g, e^{-f} dvol_g)$. The corresponding Ricci tensor to $(M^n, g, e^{-f} dvol_g)$ is the Bakry-Émery Ricci tensor, which is defined by

$$\operatorname{Ric}_f = \operatorname{Ric} + \operatorname{Hess} f$$
.

In [12], Huang and Li introduce the concept of quasi gradient Yamabe soliton. Recall that an *n*-dimensional complete Riemannian manifold (M^n, g, f) is called a quasi Yamabe soliton if it satisfies

(1.2)
$$Rg + \text{Hess } f - \frac{df \otimes df}{m} = \lambda g$$

for some constant $\lambda, m \in \mathbf{R}$ and m > 0. (M^n, g) is said to be shrinking, steady, or expanding if $\lambda > 0$, $\lambda = 0$, or $\lambda < 0$, respectively. By taking $M^2 = \{(x, y) \in \mathbf{R}^2 : x > 0, y > 0\} \subset \mathbf{R}^2$, $g_{ij} = \delta_{ij}$ and $f = -\log(x + y)$, we see easily that $R = 0 = \lambda$ and Hess $f = df \otimes df$. So (M^2, g, f) is an example of quasi gradient steady Yamabe soliton with m = 1.

Clearly, when $m \to \infty$, equations (1.2) become gradient Yamabe soliton equations (1.1). Denoting

(1.3)
$$f_1 = \frac{f}{2(n-1)}$$
 and $f_2 = \frac{m+4(n-1)}{2m(n-1)}f$

from now on, we first give our main result for the scalar curvature estimates for gradient Yamabe solitons.

THEOREM 1.1. Let (M^n, g) be an n-dimensional complete noncompact gradient Yamabe soliton with $Ric_{f_1} \ge K$ for some constant $K \in \mathbf{R}$ and $R_* = \inf_{M^n} R$.

(1) If M^n is shrinking, then $0 \le R_* \le \lambda$ and R > 0 unless $R \equiv 0$ and M^n is isometric to the Gaussian soliton.

(2) If M^n is steady, then $R_* = 0$ and R > 0 unless $R \equiv 0$ and M^n is either trivial or isometric to a Riemannian product mainfold.

(3) If M^n is expanding, then $\lambda \leq R_* \leq 0$ and $R > \lambda$ unless $R \equiv \lambda$ and M^n is either trivial or isometric to a warped product mainfold.

As for quasi gradient Yamabe solitons, it is proved by Huang and Li [12] that any compact quasi gradient Yamabe soliton has constant scalar curvature. In the noncompact case, we can get

PROPOSITION 1.2. Let (M^n, g) be an n-dimensional complete noncompact quasi gradient Yamabe soliton with $Ric_{f_2} \ge K$ for some constant $K \in \mathbf{R}$ and $R_* = \inf_{M^n} R$.

(1) If M^n is shrinking, then $0 \le R_* \le \lambda$ and R > 0, i.e., R can not attain its minimum 0.

(2) If M^n is steady, then $R_* = 0$ and R > 0 unless $R \equiv 0$.

(3) If M^n is expanding, then $\lambda \leq R_* \leq 0$ and $R > \lambda$ unless $R \equiv \lambda$.

Remark 1.3. Theorem 1.1 and Theorem 1.2 include the Einstein solitons with negative constant curvature.

By Theorem 1.1 and equation (1.1), we obtain

THEOREM 1.4. Let (M^n, g) be an n-dimensional complete noncompact gradient Yamabe soliton with $\operatorname{Ric}_{f_1} \geq K$ for some constant $K \in \mathbb{R}$. Then there exist two constant c_1 and c_2 , such that

- (1) If M^n is shrinking or steady, then $f(x) \le \frac{\lambda}{2}r^2 + c_1r(x) + c_2$.
- (2) If M^n is expanding, then $f(x) \le c_1 r(x) + c_2$.

Without the assumptions that $Ric_{f_i} \ge K$, i = 1, 2, we can derive the following results by the minimum principle.

THEOREM 1.5. Let (M^n, g) be an n-dimensional complete noncompact gradient Yamabe soliton.

(1) If $R \ge \lambda > 0$, then $R \equiv \lambda$ and M^n is either trivial or isometric to a Riemannian product manifold.

(2) If $R \ge \lambda = 0$, then R > 0 and M^n is a warped product manifold, unless $R \equiv 0$ and M^n is either trivial or isometric to a Riemannian product soliton.

(3) If $R \ge 0 > \lambda$, then R > 0 and M^n is a warped product manifold, unless $R \equiv 0$ and M^n is isometric to the Gaussian soliton.

Remark 1.6. It is known for gradient shrinking Ricci solitons Ric + Hess $f = \rho g$ that the scalar curvature $R \equiv n\rho$ provided that $R \geq n\rho > 0$. Theorem 1.5 states that gradient Yamabe solitons also have the similar property. We would like to thank the referee for bringing us the question that whether $R \equiv \lambda$ is true for complete gradient Yamabe solitons with $R \geq \lambda > 0$ and for very helpful suggestions which helped us with the proof of Theorem 1.5 and with the improvements of our work.

PROPOSITION 1.7. Let (M^n, g) be an n-dimensional complete noncompact quasi gradient Yamabe soliton.

(1) If $R \ge \lambda > 0$, then $R > \lambda$ unless $R \equiv \lambda$. (2) If $R \ge \lambda = 0$, then R > 0 unless $R \equiv 0$.

(3) If $R \ge 0 > \lambda$, then R > 0, namely, R can not attain its minimum 0.

The paper is organized as follows: In section 2, we first compute the f_2 -Laplacian of R of quasi gradient Yamabe solitons, then employing the weak maximum principle at infinity in smooth metric measure space, we give the proof of Theorem 1.1 and proposition 1.2. In section 3, we complete the proof of Theorem 1.4. The last section is devoted to proving Theorem 1.5 and Proposition 1.7.

2. Proofs of Theorem 1.1 and Proposition 1.2

To begin with, we compute the f_2 -Laplacian of R of quasi gradient Yamabe solitons and get

LEMMA 2.1. Let (M^n, g) be an n-dimensional quasi gradient Yamabe soliton satisfying (1.2). Then

(2.1)
$$\nabla R = \frac{\operatorname{Ric}(\nabla f)}{n-1} + \frac{(R-\lambda)\nabla f}{m}$$

and

(2.2)
$$\Delta_{f_2}R = -\frac{n(R-\lambda)^2}{m} + \frac{R\lambda - R^2}{n-1},$$

where $\Delta f_2 = \Delta - \nabla f_2 \cdot \nabla$ and f_2 is defined by (1.3).

Proof. In local coordinates, we denote by $g = (g_{ij})$ the Riemannian metric on M^n with coefficients g_{ij} , and denote the inverse matrix by $(g^{ij}) = (g_{ij})^{-1}$. Throughout this paper we adopt the Einstein summation convention. Taking the trace of (1.2), we get

(2.3)
$$n(R-\lambda) + \Delta f - \frac{1}{m} |\nabla f|^2 = 0.$$

By taking covariant derivatives of (1.2), we arrive at

$$0 = \nabla^{i} R g_{ij} + \nabla^{i} \nabla_{i} \nabla_{j} f - \frac{\nabla^{i} \nabla_{i} f \nabla_{j} f}{m} - \frac{\nabla^{i} \nabla_{j} f \nabla_{i} f}{m}$$
$$= \nabla_{j} R + \nabla_{j} \Delta f + R_{ij} \nabla^{i} f - \frac{\Delta f \nabla_{j} f}{m} - \frac{\nabla^{i} \nabla_{j} f \nabla_{i} f}{m},$$

which together with (1.2) and (2.3) yields

$$0 = (1-n)\nabla_{j}R + \frac{\nabla_{j}\nabla^{i}f\nabla_{i}f}{m} + R_{ij}\nabla^{i}f + \frac{\nabla_{j}f}{m}\left(n(R-\lambda) - \frac{1}{m}|\nabla f|^{2}\right)$$

$$= (1-n)\nabla_{j}R + \frac{\nabla_{i}f}{m}\left(\frac{\nabla_{j}f\nabla^{i}f}{m} - (R-\lambda)\delta_{ij}\right) + R_{ij}\nabla^{i}f + \frac{\nabla_{j}f}{m}\left(n(R-\lambda) - \frac{|\nabla f|^{2}}{m}\right)$$

$$= (1-n)\nabla_{j}R + \frac{(n-1)(R-\lambda)\nabla_{j}f}{m} + R_{ij}\nabla^{i}f.$$

Thus

(2.4)
$$\nabla_j R = \frac{\operatorname{Ric}_{ij} \nabla^i f}{n-1} + \frac{(R-\lambda)\nabla_j f}{m}.$$

Noting that $\nabla_i R = 2\nabla^j R_{ij}$, we conclude from (1.2), (2.3) and (2.4) that

250

GRADIENT YAMABE SOLITONS

$$(2.5) \qquad \Delta R = \frac{1}{n-1} \left(\frac{1}{2} \nabla_i R \cdot \nabla^i f + \operatorname{Ric}_{ij} \nabla^j \nabla^j f \right) + \frac{(R-\lambda)\Delta f}{m} + \frac{\nabla^j R \cdot \nabla_j f}{m}$$
$$= \frac{\nabla_i R \cdot \nabla^i f}{2(n-1)} + \frac{\operatorname{Ric}_{ij} \nabla^j f \nabla^i f}{m(n-1)} - \frac{R(R-\lambda)}{n-1} + \frac{(R-\lambda)|\nabla f|^2}{m^2}$$
$$- \frac{n(R-\lambda)^2}{m} + \frac{\nabla^j R \cdot \nabla_j f}{m}$$
$$= \frac{\nabla_i R \cdot \nabla^i f}{2(n-1)} + \frac{2\nabla^j R \cdot \nabla_j f}{m} - \frac{R(R-\lambda)}{n-1} - \frac{n(R-\lambda)^2}{m}$$
$$= \frac{m+4(n-1)}{2m(n-1)} \nabla_i R \cdot \nabla^i f - \frac{R(R-\lambda)}{n-1} - \frac{n(R-\lambda)^2}{m},$$

where (2.4) is used in the third line of (2.5). So (2.2) follows from (2.5) by setting $f_2 = [m + 4(n-1)]f/2m(n-1)$.

For quasi gradient Yamabe solitons, equation (2.2) implies

(2.6)
$$\Delta_{f_2} R \le \frac{R\lambda - R^2}{n-1}.$$

Since $f_1 = \lim_{m \to \infty} f_2$, for gradient Yamabe solitons, we can get from (2.5)

(2.7)
$$\Delta_{f_1} R = \frac{R\lambda - R^2}{n-1}.$$

Recall that if $(M^n, g, e^{-f} dvol_g)$ is a smooth metric measure space, we say that the weak maximum principle at infinity for f-Laplacian holds if given a function $h \in C^2(M^n)$ satisfying $\sup_{M^n} h = h^* < +\infty$, there exists a sequence $\{x_n\} \subset M^n$ along which

(i)
$$h(x_n) \ge h^* - \frac{1}{n}$$
 and (ii) $\Delta_f h(x_n) \le \frac{1}{n}$.

In [20], Wei and Wylie established the following volume comparison theorem for any smooth metric measure space $(M^n, g, e^{-f} dvol_g)$.

LEMMA 2.2 ([20]). Let $(M^n, g, e^{-f} dvol_g)$ be an n-dimensional complete smooth metric measure space with $\operatorname{Ric}_f \geq K$ for some constant $K \in \mathbb{R}$. Then for any $r_0 > 0$, there are constants A, B, C > 0 such that for every $r \geq r_0$,

$$vol_f(B_r) \le A + B \int_{r_0}^r e^{-Kt^2 + Ct} dt.$$

It follows from Lemma 2.2 and Theorem 9 in [19] that

251

LEMMA 2.3. Let $(M^n, g, e^{-f} dvol_g)$ be an n-dimensional complete smooth metric measure space with $\operatorname{Ric}_f \geq K$ for some constant $K \in \mathbb{R}$. Then the weak maximum principle at infinity for the f-Laplacian always holds on M^n .

The following Lemma is also needed in the proof of Theorem 1.1.

LEMMA 2.4 ([19], Theorem 1). Let (M^n, g) be a complete manifold. Suppose that there exists a smooth function $f : M^n \to R$ satisfying Hess $f = \lambda g$ for some constant $\lambda \neq 0$. Then M^n is isometric to R^n .

Proof of Theorem 1.1. Let $f_1 = f/2(n-1)$, we see from the assumption $\operatorname{Ric}_{f_1} \ge K$ in Theorem 1.1 and Lemma 2.3 that the weak maximum principle at infinity for the f_1 -Laplacian holds. Set $R_-(x) = \max\{-R(x), 0\}$, equality (2.7) implies

$$\Delta_{f_1}R_-=\frac{\lambda R_-+R_-^2}{n-1}.$$

Therefore, by Corollary 13 in [19], we obtain that R_{-} is bounded from above, or equivalently, $R_{*} = \inf_{M^{n}} R > -\infty$, which together with Lemma 2.3 and equation (2.7) produces a sequence $\{x_{p}\} \subset M^{n}$, 0 such that

$$R(x_p) \to R_* \quad (p \to \infty)$$

and

(2.8)
$$-\frac{1}{p} \le \Delta_{f_1} R(x_p) = \frac{\lambda R(x_p) - R(x_p)^2}{n-1}.$$

Taking the limit in (2.8) as $p \to \infty$ gives

$$(2.9) R_*(\lambda - R_*) \ge 0.$$

Now we divide our proof into the following three cases:

CASE (i) $\lambda > 0$. Obviously, inequality (2.9) implies $0 \le R_* \le \lambda$ and consequently $R \ge 0$. Assume that R attains its minimum, namely, there exists a point $x_0 \in M^n$ such that $R(x_0) = 0$, then the non-negative function R satisfies

$$\Delta_{f_1} R - \frac{\lambda R}{n-1} = \frac{-R^2}{n-1}$$
$$\leq 0.$$

and attains its minimum at $R(x_0) = 0$. Since $\frac{\lambda}{n-1} > 0$, it may be concluded from the minimum principle for elliptic equations (see [9], p. 35) that R is a constant on M^n , so M^n is scalar flat. Combing $R \equiv 0$ with equation (1.1) gives

Hess
$$f = \lambda g$$
,

which together with Lemma 2.4 yields (1) in Theorem 1.2.

CASE (ii) $\lambda = 0$. In this case, inequality (2.9) leads to $R_* = 0$, thus $R \ge 0$. Assume that there exists a minimum point $x_0 \in M^n$ such that $R(x_0) = 0$, using the same argument as in case (i), we obtain that R is a constant and M^n is scalar flat, which produce the equation:

Hess
$$f = 0$$
.

Thus either f is a constant or $\nabla f \neq 0$ and the manifold splits along the gradient of f, the results of Cao-Sun-Zhang [4] and He [11] yield that (M^n, g) is isometric to the Riemannian product.

CASE (iii) $\lambda < 0$. Similarly, we arrive at $\lambda \le R_* \le 0$ from (2.9) and consequently $R \ge \lambda$. Suppose that R can attain its minimum at point $x_0 \in M^n$ such that $R(x_0) = \lambda$, then the non-negative function $u(x) = R(x) - \lambda$ satisfies

$$\Delta_{f_1} u + \frac{\lambda u}{n-1} = -\frac{u^2}{n-1}$$
<0

and attains its minimum $u(x_0) = 0$. Since $\frac{\lambda}{n-1} < 0$, we conclude from the minimum principle that *u* vanishes identically. Hence $R = \lambda$ is a constant, this together with equations (1.1) yields

Hess
$$f = 0$$

Thus either f is a constant or the manifold splits along the gradient of f.

Proof of Proposition 1.2. Under the assumption that $\operatorname{Ric}_{f_2} \ge K$ for some constant $K \in \mathbf{R}$, using a similar argument as in the proof of Theorem 1.1, we can deduce equation (2.9) by (2.5), Lemma 2.3 and the weak maximum principle at infinity for Δ_{f_2} . So the conclusions that $0 \le R_* \le \lambda$ for $\lambda \ge 0$ and $\lambda \le R_* \le 0$ for $\lambda \le 0$ are still true for quasi gradient Yamabe solitons. In the following, the proof will be divided into two cases:

CASE (i) $\lambda > 0$. If there exists a point $x_0 \in M^n$, such that $R(x_0) = 0$, then the minimum principle and equation (2.6) tell us that the non-negative function Rmust be a constant, namely, $R \equiv 0$ on M^n , contrary to (2.2).

CASE (ii) $\lambda \leq 0$. Since the non-negative function $u(x) = R(x) - \lambda$ satisfies

$$\Delta_{f_2} u + \frac{\lambda u}{n-1} = -\frac{(n(n-1)+m)u^2}{m(n-1)} < 0$$

The same proof as in Case (iii) of Theorem 1.1 still goes when R attained its minimum, which gives (2) and (3) in Proposition 1.2.

3. Proof of Theorem 1.4

In this section, we are going to prove Theorem 1.4.

Proof of Theorem 1.4. Let $r(x) = d(x, x_0)$ be a distance function from a fixed point $x_0 \in M^n$ and $\gamma(s) : [0, r(x)] \to M^n$ be a minimizing normal geodesic starting from $x_0 = \gamma(0)$ to x. Then

$$\frac{d}{ds}\Big|_{r}f(\gamma(s)) = \langle \nabla f, \nabla \gamma(r) \rangle = \int_{0}^{r} \frac{d}{ds} \langle \nabla f, \nabla \gamma(s) \rangle \, ds + \langle \nabla f, \nabla \gamma(0) \rangle$$
$$= \int_{0}^{r} \text{Hess } f(\nabla \gamma, \nabla \gamma) \, ds + \langle \nabla f, \nabla \gamma(0) \rangle.$$

While Theorem 1.1 says that $R \ge 0$ for $\lambda \ge 0$ and $R \ge \lambda$ for $\lambda < 0$, which together with the soliton equation (1.1) gives

$$f_{ij} = (\lambda - R)g_{ij} \le \begin{cases} \lambda g_{ij}, & \text{if } \lambda \ge 0, \\ 0, & \text{if } \lambda < 0. \end{cases}$$

Therefore,

$$\frac{d}{ds}\Big|_{r} f(\gamma(s)) \leq \begin{cases} \lambda r + \langle \nabla f, \nabla \gamma(0) \rangle, & \text{if } \lambda \geq 0, \\ \langle \nabla f, \nabla \gamma(0) \rangle, & \text{if } \lambda < 0. \end{cases}$$

Integrating the above inequalities along $\gamma(s)$ yields Theorem 1.4.

4. Proofs of Theorem 1.5 and Proposition 1.7

In order to prove Theorem 1.5 and Proposition 1.7, we need the following classical result of Riemannian geometry (see [17]).

LEMMA 4.1 ([17], Theorem 3.2). Let (M^n, g) be a complete manifold with smooth functions f, v satisfying

Hess
$$f = vg$$
,

then the Riemannian structure is a warped product around any point where $\nabla f \neq 0$.

Proof of Theorem 1.5. Let (M^n, g) be an *n*-dimensional complete noncompact gradient Yamabe soliton. Now we divide our proof into the following three cases:

CASE (1) $R \ge \lambda > 0$. Suppose that f is not a constant. By Cao-Sun-Zhang's result (see Theorem 1.2 in [4]), we know that (M^n, g) is isometric to a warped product $(I, dr^2) \times_{|\nabla f|} (\overline{N}, \overline{g})$ for some interval I and $(\overline{N}, \overline{g})$ with constant scalar curvature $\overline{R} > 0$. Fix $(r_0, \overline{x}) \in I \times \overline{N}$ with $\nabla f(r_0, \overline{x}) \neq 0$, and consider a curve $[r_0, \infty) \ni r \mapsto (r, \overline{x}) \in M^n = I \times \overline{N}$. It follows from $R \ge \lambda > 0$ and equation (1.1) that the function f is concave, i.e., Hess $f \le 0$, and

$$f'(r) \le f'(r_0) < 0$$
 for any $r \in [r_0, \infty)$

254

along this curve. Since

 $\overline{R} = (f')^2 R + (n-1)[(n-2)(f'')^2 + 2f'f'''] \ge \lambda(f')^2 + 2(n-1)f'f''',$

e.g. (2.20) in [4], we have

$$f'''(r) \ge \frac{1}{2(n-1)} [\overline{R}/f'(r) - \lambda f'(r)] \ge \frac{-\lambda}{2(n-1)} [f'(r) - \overline{R}/\lambda f'(r_0)].$$

Let $\phi(r)$, $r \ge r_0$ be the solution to

$$\phi''(r) = \frac{-\lambda}{2(n-1)}\phi(r); \quad \phi(r_0) = f'(r_0) - \overline{R}/\lambda f'(r_0); \quad \phi'(r_0) = f''(r_0).$$

Then, $f'(r) - \overline{R}/\lambda f'(r_0) \ge \phi(r)$ for any $r \ge r_0$. Since $\phi(r)$ is a periodic function, there exists $r_1 > r_0$ such that $\phi(r_1) = \phi(r_0)$. Then, $f'(r_1) - \overline{R}/\lambda f'(r_0) \ge \phi(r_1) = \phi(r_0)$. This means $f'(r_0) = f'(r_1)$. Since r_0 was chosen arbitrarily, f'(r) is a constant and hence (M^n, g) is isometric to $\mathbf{R} \times \overline{N}$ and $R \equiv \lambda$.

(4.1) CASE (2)
$$R \ge \lambda = 0$$
. By (2.7), we get
 $\Delta_{f_1} R = \frac{-R^2}{n-1} \le 0.$

Assume that *R* attains its minimum, namely, there exists a point $x_0 \in M^n$ such that $R(x_0) = \lambda$, then inequality (4.1) and the minimum principle imply that $R \equiv \lambda$. Therefore, equation (1.1) becomes

Hess
$$f = 0$$
.

Thus either f is a constant or (M^n, g) is isometric to the Riemannian product manifold.

If $R > \lambda$ on (M^n, g) , (M^n, g) is a warped product has been already proved by Cao-Sun-Zhang [4]. In fact, by setting $v := \lambda - R < 0$, we conclude from Lemma 4.1 and equation (1.1) that M^n is a warped product manifold.

CASE (3) $R \ge 0 > \lambda$. It is easy to see from (2.7) that

$$\Delta_{f_1} R = \frac{R(\lambda - R)}{n - 1} \le 0.$$

If there exists a point $x_0 \in M^n$ such that $R(x_0) = 0$, then $R \equiv 0$ and Hess $f = \lambda g \neq 0$, which together with Lemma 2.4 gives that M^n is isometric to the Gaussian soliton. If R > 0, then the result Cao-Sun-Zhang [4] implies that M^n is a warped product manifold, and (3) is proved.

Proof of Proposition 1.7. Let (M^n, g) be an *n*-dimensional complete noncompact quasi gradient Yamabe soliton. For (1) and (2) in Theorem 1.7, we see from (2.6) and $R \ge \lambda \ge 0$ that

(4.2)
$$\Delta_{f_2} R \le \frac{R(\lambda - R)}{n - 1} \le 0.$$

If *R* attains its minimum, namely, there exists a point $x_0 \in M^n$ such that $R(x_0) = \lambda$, then inequality (4.2) and the minimum principle imply that $R \equiv \lambda$. For $R \ge 0 > \lambda$, using the same approach, we can see that R > 0 or $R \equiv 0$, but the later case contradicts to equation (2.2), which gives (3), and the proof is complete.

Acknowledgement. The authors would like to express their sincere thanks to the referee for careful reading and very helpful and valuable suggestions to improve this paper. The first author would like to express his gratitude to S. W. Fang for many helpful discussions.

REFERENCES

- S. BRENDLE, Convergence of the Yamabe flow in dimension 6 and higher, Invent. Math. 170 (2007), 541–576.
- [2] S. BRENDLE, Convergence of the Yamabe flow for arbitrary initial energy, J. Differential Geom. 69 (2005), 217–278.
- [3] A. BURCHARD, R. J. MCCANN AND A. SMITH, Explicit Yamabe flow of an asymmetric cigar, Methods Appl. Analy. 15 (2008), 65–80.
- [4] H. D. CAO, X. F. SUN AND Y. Y. ZHANG, On the structure of gradient Yamabe solitons, Math. Res. Lett. 19 (2012), 767–774.
- [5] B. CHOW, The Yamabe flow on locally conformally flat manifolds with positive Ricci curvature, Comm. Pure Appl. Math. 45 (1992), 1003–1014.
- [6] B. CHOW, P. LU AND L. NI, Hamilton's Ricci flow, Science Press, Amer. Math. Soc., Beijing, Providence, 2006.
- [7] G. CATINO, C. MANTEGAZZA AND L. MAZZIERI, On the global structure of conformal gradient solitons with nonnegative Ricci tensor, Commun. Contemp. Math. 14 (2012), 1250045.
- [8] P. DASKALOPOULOS AND N. SESUM, The classification of locally conformally flat Yamabe solitons, Adv. Math. 240 (2013), 346–369.
- [9] D. GILBARG AND N. TRUDINGER, Elliptic partial differential equations of second order, 2nd ed., Springer, Berlin, 1983.
- [10] R. S. HAMILTON, The Ricci flow on surfaces, Mathematics and general relativity, Contemp. math. 71, Amer. Math. Soc., Providence, 1988, 237–262.
- [11] C. X. HE, Gradient Yamabe solitons on warped products, 2011, arXiv:1109.2343v1 [math.DG].
- [12] G. Y. HUANG AND H. Z. LI, On a classification of the quasi Yamabe gradient solitons, 2011, arXiv:1108.6177v1 [math.DG].
- [13] S. Y. Hsu, Singular limit and exact decay rate of a nonlinear elliptic equation, Nonlinear Anal. 75 (2012), 3443–3455.
- [14] S. Y. Hsu, A note on compact gradient Yamabe solitons, J. Math. Anal. Appl. 388 (2012), 725–726.
- [15] L. MA AND L. CHENG, Properties of complete non-compact Yamabe solitons, Ann. Glob. Anal. Geom. 40 (2011), 379–387.
- [16] L. MA AND V. MIQUEL, Remarks on scalar curvature of Yamabe solitons, Ann. Glob. Anal. Geom. 42 (2012), 195–205.
- [17] P. PETERSEN, Warped products, 2010, http://www.math.ucla.edu/petersen/warpedproducts.pdf.
- [18] M. DEL PINO AND M. SÁEZ, On the extinction profile for solutions of $u_t = \Delta u^{(N-2)/(N+2)}$, Indiana Univ. Math. J. **50** (2001), 611–628.

- [19] S. PIGOLA, M. RIMOLDI AND A. G. SETTI, Remarks on non-compact gradient Ricci solitons, Math. Z. 268 (2011), 777–790.
- [20] G. F. WEI AND W. WYLIE, Comparison geometry for the Bakry-Émery Ricci tensor, J. Differential Geom. 83 (2009), 377–405.
- [21] J. Y. Wu, On a class of complete non-compact gradient Yamabe solitons, 2011, arXiv:1109.0861v1 [math.DG].
- [22] R. YE, Global existence and convergence of Yamabe flow, J. Differential Geom. 39 (1994), 35–50.

Yawei Chu School of Mathematics and Statistics Zhengzhou University No. 100 of Science Road Zhengzhou 450001 Henan People's Republic of China E-mail: yawchu@163.com

School of Mathematics and Computational Science Fuyang Teachers College Fuyang, 236037, Anhui People's Republic of China

Xue Wang School of Mathematics and Computational Science Fuyang Teachers College Fuyang, 236037, Anhui People's Republic of China E-mail: fywxue@163.com